CSC2-140 Foundation of Computer Science
Quiz 2 October 16, 2017
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12 pts possible. Closed book. Closed notes.
1. (1 pteach) Let r = “BTW” and s = “python rocks”. What would be printed by the following
statements?

a. print(s[2:6]) + L’\ ON
b. print(r+s) (gTu)(’ ﬂ +hon fockS
c.print(r*3) RTWR/L WARTW

d prints[7])  (OCES

e.printr<s) | CUQ>

£ print(find(rs) < would o ff

2. (2 pt. ) What would be printed by the following code segment?

b (v Amdd) = U

"on "o

fruit = ["banana”, apile , "cherry"] K a 4{(} (_Q“ [ e (S ]

print(fruit) Npauan 4 [
fruit[0] = "pear”

R ) . 1\
fruit[-1] = "orange E”Qla(\\, {(q (P&Lﬂ/ l/CNnytje j

print(fruit)

3. (1 pteach) Let qlist =[“python”, “c++”, “java”, “R”] . What would be printed by the following
statements?

a. print(len(qlist)) L{'

b. print(“java” in glist) [ vl

c. print([glist]*2) [ I:’( el e )/lR\\_}j [[le“ ' ll(ﬂ\j] ,,
d. print(qlist[len(qlist)]) W



